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Question 1

Question Type: MultipleChoice

What type of cluster can a Security Group can be compared to?

Options:

A- VSLS

B- Load Sharing Active /Active
C- Active / Backup

D- Active / Standby

Answer:

B

Question 2

Question Type: MultipleChoice




What cannot be learned from the output of asg perf -v -p command?

Options:

A- Average CPU usage on Appliances
B- Real-time throughput
C- Average CPU usage on Orchestrators

D- Per-path distribution

Answer:

Question 3

Question Type: MultipleChoice

What is the maximum amount of Appliances within the same Security Group?



Options:

A-16
B-31
C-52
D-8

Answer:

B

Question 4

Question Type: MultipleChoice

What is the minimal amount of cables needed in order to connect an Appliance to an Orchestrator?

Options:

A- Three cables: uplink, downlink, SYNC



B- One Downlink cable only
C- Two cables: one uplink and one downlink

D- Four cables: uplink, downlink, SYNC and Management

Answer:

B

Question 5

Question Type: MultipleChoice

What is the default IP range of Sync network (with no increment)?

Options:

A- The same as Management network
B-198.51.100.0

C-192.0.2.0

D-192.168.1.0



Answer:

Question 6

Question Type: MultipleChoice

What is the minimal amount of cables needed in order to connect an Appliance to an Orchestrator?

Options:

A- Three cables: uplink, downlink, SYNC
B- One Downlink cable only
C- Two cables: one uplink and one downlink

D- Four cables: uplink, downlink, SYNC and Management

Answer:

B



Question 7

Question Type: MultipleChoice

What cannot be learned from the output of asg perf -v -p command?

Options:

A- Average CPU usage on Appliances
B- Real-time throughput
C- Average CPU usage on Orchestrators

D- Per-path distribution

Answer:

C

Question 8

Question Type: MultipleChoice




What is the maximum amount of Appliances within the same Security Group?

Options:

A-16
B-31
C-52
D-8

Answer:

Question 9

Question Type: MultipleChoice

What is the default IP range of Sync network (with no increment)?



Options:

A- The same as Management network
B-198.51.100.0

C-192.0.2.0

D-192.168.1.0

Answer:

C

Question 10

Question Type: MultipleChoice

What type of cluster can a Security Group can be compared to?

Options:

A-VSLS



B- Load Sharing Active /Active
C- Active / Backup
D- Active / Standby

Answer:

B
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